LESSON -8
TENS AND ONES
PRACTICE BOOK NOTES



' Number of tens and ones are needed to build 2 digit numb

|
1 09, 08, 07, 06, 05, 04, 03, 02, 01 and 00 are not 2-digit number
| because there are no tens (zero tens) in them. '
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counting.

2. Now, count the jelly beans one by one and write 2 4
how many?

3. Draw aring around 10 jelly beans each to make
groups of tens. Colour each group of jelly beans

with different colours.
How many groups of tens you have made? Write.
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8. Eowmanw.m and ones are there? Tens Ones
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]' {Assignment 3 > N
into Tens m:?:
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| :«32 i:flg‘i:anumber can be decomposed into tens and ones
l ones = 4tens+ 3ones 1fen et
: = 3tens+ 13 ones - P 7 § -
: = 2tens + 23 ones %

: = 1ten +33ones 23 ones i3 ones

= -
e —
N
— —
P —
- —

Complete the tabi |
€ by counting the sficks and b
obtained into tens and ones. - nd by spiitiing the numbe
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2 tens +4 ones

24 20+ 4 =24

1 tens+ 7 ones

17 : R/ =17/

— l
5 30 tens + 0 ones}
30 30+ 0 =30
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' A 10-rupee coin/note
Ote IS W
: orth ten 1-rupee @ o .} 10
coins

. Coins.
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1. How much money is it?

(a) w=mmemss
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5. Eﬁ iﬁm‘l @ W 62
(b) W=s==sm=s e SR
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(@) T57=10+10+10+10 410 +1+1+1+1+1+41+1
b) z39= 10+10+10+1+1+1+1+T+1+1+1+1
T04+T0+10+710+7+7+1

(c) T43 =

(d) T99 =10+103 10+ 10+ 10+ 1041 010 1061 £ 183 1 kbl T4 )
3. Break-up the amount of money in tens and ones. One has been done

for you.

() 33= 30+5 (b) 65= 60+5 (c) 81= 80+1

(d) 29= 20+9 (e) 35= 30+3 f ss=80+8

4. Fill in the blanks.

(@) T43= 4  10-rupee notes + three l-lupee coins
(b) 71 seven 10-rupee notes + one l-rupee coin
(c) 20 = 10-rupee notes + zero 1-rupee coin
7 _ l-rupee coins

6 10-rupee notes +

(d) T67=




